ANREBEERFAZVF

MINOURN

Universal Bicycle Stand

(ﬁﬁﬁ@]/ In-Use Style )

DSX-1

x4 X/ Applicable Size

HkEhiERE
instructions manual
(ver.1.0 2018/1)

DSX-1

= =0 | 57vkiGmmEe I
% = — g :5/mm £ T
T Wheel Size : 18 — 29 inch 4 9449247423766
‘ Tire Width : up to 57mm

‘.)

AVA"
20

q

/ ('i "\g“

(R A Fig. A)

@EHGEDHEREMFDRITELE LIAGIF T,
24 VIEICERGE CEAD SHRINAAT
BEBEZHIISEHRZ VR,

OAR—V ZRET BT ATV 2TE,

@ Simply place your bike wheel between
the uprights to hold the bike in a vertical
position. Stand automatically adjust to
your tire width.

@ Soft plastic protector included to avoid
damage to your spokes.

m B REEHARE ¢ TREAR 1 FRE

Warranty Period : 1 year

REL CI3WeEy = TV A b
B EE,

Visit our web site for the latest
information.

WEETE:

$B+3TT7H ~ How To Assemble

1BIUVYTYy rLYF6ZURBLYF
Required Tools : 13mm Socket Wrench, 6mm Hex Wrench

)

@

M8x25 RJb b
M8x25 Bolt \

M8 v k (5%)
M8 Nut (Thin)

@

()N

Small Frame

Ay hFa—7
Slit Tube

INZ+EEZ LRIV b
Spring + Headless Bolt

M8 v b (E)
M8 Nut (Thick)

7 (K)

Large Frame

(BB Fig.B)

@ RIBICHE UM O RIS O R v b F o —T 2B EMTFET,

As the final step, wrap the supplied spiral Slit Tube on top of
the Small Frame.

KHIg v v 7ORASIC M8 F v k(1) 213,
INADUHTR LRIV EDHBHT TdH BN UiA
AHET, BEF v v T EETIERCAATHITE
To TNZ2AREEITIRVET,

Put the M8 Nut (Thin type) in the hex hole on
the Plastic Cap, and screw it to the Headless Bolt
on the Spring. Make two pieces.

BHESFv v 7O M8 ;v hASIRCHETWVWE XY
oo, £95ICHE O ZEL., BT O
FEL, mEICMS Fv ks (JB) ZRCIAATIED
i‘a‘o

Put the Large Frame to the thread from the M8
Nut on the Plastic Cap first, then put the Small
Frame, and screw the M8 Nut (Thick type) to
tighten them together.

BoRHiE, M8x25 ARV Mk () Z@EL. Kl
T (R Z@EL. ZNZEET v v 7IciddHid
ATEM8 T b (1) ZH@EEE T, N3O
CIAATHEELE . NxZEWT Y bDEXSIC
S DI T, NREDTEDATRLAIHTINTT
MREETLoMD LRCAATIIEE W,

On the opposite side, put the Small Frame and
the Large Frame to the M8x25 Bolt, then screw
them into the Spring through the M8 Nut (Thin
type) in the Plastic Cap until the end.

You will use the spring as if it is a long nut.



DSX-1 O{ELVAS ~ How To Use DSX-1

1 FIDSX-1 %, B (K)ZRNCLTIKRICEZET, (¥C)

Place the DSX-1 on the floor with the larger frame
contacting the ground. (Fig. C)

LEMEHIR CEBZ N EDTETT,
Do not set the Small Frame as the base of the
DSX-1.

Doing so causes an imbalance and your bike
will not be stable while in the stand. (Fig. D)

ﬁ B(N)DFIcEBLSEEE (KD) TE157%

(®C.Fig.O

2 Bt (/N) ORNCH B3l L ERtES v v 70 ki,
ghlcHiRE FALET, (XE)

Slowly place the wheel on the Plastic Caps between the
Small Frames gently. (Fig. E)

HRZERE TSI ERL DIV BNTEELI LT
KTV NRDSRIVEDIRITTLENETS,
ELIRIFTTLFE S ESMATTEITLELDVET,
Do not drop the wheel into the frames strongly.

The bolt may have to come out from the Spring.
You need to reassemble the stand if it occurs.

=

(K E_ Fig.E)

(K F, Fig.F)

3 HFDOEMS TR (/N) BT TV E, Bz kAL C L THIEHZHAV.EEE T, (KF)
The wheel's own weight will close the Small Frames to support the bike vertically. (Fig. F)

ZELTRIFT BT EDTEFEA (BA). TDe&—ERICHIGAEIREL KA — )L FELET,

Allow the Small Frame to contact as many spokes as possible for maximum stability. Contact with
three or more spokes is essential to overall stability (Fig. A). Some wheels are not compatible.

Fita CIRIF T 3551, FiERIZL T 7L —LE—BERRIC L. /\> FILDTTIAA TEIRRE TIXEA L N TS /EE LY,
BENTERLEY, BECTRAT 3581d. AR—T7DESL & CHI DR TERDAICIES CEICEYET,

When you support with the front wheel, make sure the front wheel is straight, not off center.
Be sure the bike will have to lean a little when you support with the rear wheel due to its special
unsymmetric spoke pattern.

LA hER Hatait S
Contact

é TEBISZDAR=0HR () ICEL TRIFESNS L DICERHZRE L THEL TS, 2FX8ETIF

T 503-2305 IXBRZ/\BFHFETHA 1197-1
Phone: (0584) 27-3131 / Fax: (0584) 27-7505 / Web: www.minoura.jp
Mail: minoura@minoura,jp (2%)  infodesk@minoura.jp (HX2IX—H%—ER)

MINOURA JAPAN

1197-1 Godo, Anpachi, Gifu 503-2305 Japan ]
Web: www.minoura.jp / Mail: minoura@minoura.jp Made in Japan




